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ﬁg TREOBEBOSILEHOKRES TREDOHBEILHOKRES TEFEOBRBOEILNDOKRES TREOHBESSLADKRES
R oma | BT e | B2 | e | e | B2 | BT e | B2 | T | & | T
1 100kN/mM##8 %% 1.00{ 0.00 ~ 0.53 107.83| 3m%*x#BZx 5% ol ~ = = —| 100kN/mM%Z#BZ % 1.00] 10.58 ~ 12.04 107.83| 3m%#BZ % =l ~ = = =
s 1.00]0.53 ~ 8.31 100.00f Z=h st |0.00 ~ 8.31] 2.24 11.33 Lo 1.00] 5.00 ~ 10.58 100.00| ZhList | 500 ~ 12.04] 224 11.33
9 100kN/m##B %% = o ~ = -|3m%i#82%(000 ~ 0.10] 3.11 15.70| 100kN/m#%#BZ% = -~ = —-|3m%i#EZ 5[ 1000 ~ 12.04| 3.11 15.70]
s 1.00/0.00 ~ 4.80 59.76] =hLls |0.10 ~ 4.80| 3.00 15.16 Lo 1.00] 5.00 ~ 12.04 59.76| =nLst | 500 ~ 10.00f 3.00 15.16
3 100kN/mM##8 %% 1.00{0.00 ~ 0.11 101.59| 3m%*#B=x % ol ~ = = —| 100kN/mM%Z#BZ % 1.00] 13.66 ~ 14.04 101.59| 3m%#BZ % =l ~ = = =
s 1.00{0.11 ~ 7.89 100.00f Zh st | 0.00 ~ 7.89| 2.61 13.18 Lo 1.00] 5.00 ~ 13.66 100.00f ZhList | 500 ~ 14.04| 2.61 13.18
4 100kN/mM##8 %% 1.00]0.00 ~ 1.51 123.09| 3m%*#BZx % ol ~ = = —| 100kN/mM%Z#BZ % 1.00| 11.48 ~ 16.77 123.09| 3m%#BZ % =l ~ = = =
s 1.00]1.51 ~ 9.30 100.00f Z=h st |0.00 ~ 9.30] 2.63 13.27 Lo 1.00] 5.00 ~ 11.48 100.00| =hList | 500 ~ 16.77| 2.63 13.27
5 100kN/m##B %% 1.00{0.00 ~ 1.75 126.81|3m%*x#BZx 5 ol ~ = = —| 100kN/mM%Z#BZ % 1.00] 10.76 ~ 16.77 126.81|3m%#BZ % =l ~ = = =
s 1.00]1.75 ~ 953 100.00f Z=h st |0.00 ~ 9.53] 2.50 12.62 Lo 1.00] 5.00 ~ 10.76 100.00| =hList | 500 ~ 16.77| 2.50 12.62
6 100kN/ Mm% 5 -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&x#Z5 -~ = = =
Lo 1.00{0.00 ~ 4.09 51.19] =hLls [0.00 ~ 4.09| 2.37 11.98 Lot 1.00] 500 ~ 7.57 51.19] =nklst | 500 ~ 7.57| 237 11.98
7 100kN/mM%E{BZ 5 -l -~ = -|3m%Ei#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
Zh st 1.00{0.00 ~ 4.20 5251 ZhLlst 000 ~ 420 2.35 11.88 st 1.00] 500 ~ 7.57 5251 =nkst | 500 ~ 7.57| 2.35 11.88
g 100kN/MZ#8Z % -l -~ = -|3m%EiHBZ % -~ = = —| 100kN/mM%#BZ % = -~ = - 3m%iBx 5 o ~ = = =
Zh Lt 1.00{0.00 ~ 6.34 79.73| =hLlst 000 ~ 6.34] 1.85 9.35 st 1.00] 500 ~ 7.60 79.73| =nst | 500 ~ 7.60[ 1.85 9.35
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
Ths ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
Ths ~ zhst ~ Lot ~ st ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ zhs ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ Thst ~ ZhLst ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ st ~ st ~
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